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R B % 500 0 500 0
ANEE ST ER £ 1,000 0 500 500
=3P 1,000 0 500 500
BB % 2,300 1,800 500 0
H)IBER % 2,250 750 1,000 500
EYRIE £ 1,750 750 1,000 0
FERHEE A 5,100 4,600 500 0
BT RE 5,500 4,000 500 1,000
M B EE T2 B2 % 7,500 7,000 0 500
P R BE % 7,000] 7,000 0 0
IR T2 AN 8,000 8,000 0 0
HETZE A 1,900 1,400 0 500
I i A 500 0 0 500
(EMBAféiEMBA) 31,200 27,200 3,000 1,000
TTEEREE X 13,850 10,850 2,500 500
B EIEE 8,760 7,260 500 1,000
FIIEEIRE % 4,800 3,300 1,000 500
NHEEEEWIE 6,500 4,000 2,000 500
ANEREEHTF 10,240 8,740 1,000 500
THHEREEEMIEAR 2,500 0 2,500 0
EENRREEESS | 2050 2050 0 0
TERBRIZE R 13,000 12,000 500 500
EERIE £ 2,700 700 1,000 1,000
F MRS 3,000 3,000 0 0
pSPES==8 F 3 A 1,500 0 1,000 500
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BUARKTEE % 10,800 9,800 0 1,000
KB ST P 2,050 550 1,000 500
BOa 25T 900 900 0 0
HEMIPT 2,150 1,150 500 500
HTEEA 2,000 0 2,000 0
oh B B 5p K &R IS AT 35 PR 2,500 500 1,000 1,000
S BB 1,050 550 500 0
BERR IR 500 0 0 500
ZEE R ERARET 166,350 | 127,850 25,000 13,500
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